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FR | 50m ~ 10| 10 |/h5 | &K HEHR 36.37
8 |/h3 H XA 39.39
10 | /M5 i #Fi+ 41.20
8 |/h3 | EBIR MEZE 43.07
13 ~ 14| 14 |3 | FH# XA 33.56

100m [11 ~ 12]11|me | x% 22 | 11286
13 ~ 14| 14 |3 | 3t XA 1:14.03

200m |13 ~ 14| 14 |&3 | B mxm | 22049

BA | 50m ~ 10| 8 |/M3 | %H =MF 46.30
BR | 50m ~ 10| 10]|/h5 |RE XLKE 4486
10 | /M5 i #Fi+ 50.39

1~ 12011 /6 | EHF B | 4210 | _
t00m| ~ 1| 10]|ns [&E zem| 13713
11 ~ 12 11 |/h6e | EH B 1:31.19
FLY | 50m ~ 10| 10 |/h5 | &K HEHR 41.62
11 ~ 12] 11 /6 AE B 36.27
IM | 200m ~ 10| 8 |/N3 | &R FREE 3:36.48

13 ~ 14| 14 | 3 Mg B 2:28.30
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f2EE IRt FEED TR FE K & M LRE  FE

FR | 50m ~ 10| 10 |/h5 | #k Z=3 36.55

K] 58 —H 40.85

N3 | BAR KRER 43.10

K] A KXo 43.59

1M~ 12|12 |51 |E&K B 29.76

12 | &1 =Rl 31.62

12 | H 1 mAR 1&IE 31.82

11 |/he | B ZFth 32.98

11 /M6 N+t B 33.88

11 |/he =5 g 34.19
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T2EE IRt FEED TR FE K & 2 MLRE  FEE
FR | 100m ~ 10| 8 |/h3 | Ik BRE 1:23.70
/I3 HIE thEs 1:24.58
N3 SV 1:27.55
1M~ 12|12 |51 |E&K B 1:05.64
12 | H 1 WA KIE 1:08.32
12 | &1 =Rl 1:12.58
11 |/he =8 7 1:13.50
1 |l/he | ¥ BH 1:14.47
15 ~ 18|17 |&3 | @O KX# 57.53
BA | 50m ~ 10| 10 |/h5 | #k Z=3 42.02
N3 | BE —E 45.88
/I3 A KXo 48.27
BR | 50m ~ 10| 10 |/h5 | &EHX —% 50.27
9 |4 | BE BER 56.49
8 |/h3 | &K LKER 58.98
9 |/M4 | X XK/Av 1:03.40
15 ~ 18] 15 | & 1 FH M 33.55
100m ~ 10| 8 |/3 i K2 1:46.83
10 | /M5 &k —% 1:48.74
9 |/M4 ISH- N - 1:58.62
1M1 ~ 12111 |/h6 | B ZH 1:27.56
13 ~ 14|14 |&3 FARK BX 1:16.03
14 |9 3 BRI B 1:16.78
15 ~ 18] 15 | & 1 FH =M 1:14.65
200m |13 ~ 14| 14 |3 | FXK BA 2:43.12
14 |3 | BI BF 2:50.53
FLY| 50m ~ 10| 8 |/h3 | BR #H— 38.58
8 |M3 | ®EI R _| 457 |
00m |13 ~ 14| 14 |3 [ mAm| 10538 |
200m |13 ~ 14| 14 |3 [hE mAm| 2:21.66
IM | 200m ~ 10| 9 |/h4 | BSE BASE 3:08.18
8 |/h3 | BN KE 3:17.11
8 |/N3 | Ik BRE 3:18.24
8 |/h3 HIE thEE 3:22.16




